868

HRE &%%?}%E@ (AT 1 mlg/lﬂ)

V51 : L IEEA T TV LA S ti PR IS N VZSted E o 77e] R
o\ X 4 O O PPN il e ) Vi Ve IRl Lo St ) e oM il L ol Y %

EH : O N MmO |77 (e | (eB) =T
1[61. 2 0.0031 0.029 0.73] 0.34
2161. 6 0.73 ARG T
3 0.33 SR TEEMT
4161, 7 0.67
5 0.033
6 0.091 LSRR T
7161 9 0.018 RS T
8 |61.11 0.11 SRR TEFERE T
962. 3 0.038 SRR FERE T
10{62. 5 10
11{62. 9 0.099
12 1.6] 0.05
13[63. 1 0.3] 0.26
14 0.035 SRR ERT
15 0.038 RGBT
16 0.12] 0.032
17 0.039 SERRBEFERE T
18 0.13
19 1.1 0.13
0l1 2 0.32 0.91 ERRIGAEEERE T
211 1. 8 0.055| 0.016 SRR TAEFERE T
22 0.29] 0.093
23 0.076 R0 T
24| 1. 5 0.045 RS ERE T
25 1. 1 0.94
26 2. 2 0.015
27 2. 7 1.79] 7.85
28| 2.12 0.186
201 3. 2 0.04 SRR FERE T
30| 3.3 0.148 ARG T
311 3. 7 0.011 RGBT
32| 3.9 0.024 RS FERE T
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?%;f%frﬁj%fk%‘.%ﬁ%&fx(%&:lmlg/la)
S : " P - VIS LA el [ ST B VUZCIE B V751 B N
18] o< N I A F 0 Pl ) Ve Vil e L[SV S A gl ol el 2
4 H v FLv y (MO) x4 | (TCE) | (PCE)
3.9 0.23
1.6
3.1 47 SRR FERE T
0.05 RS ERE T
0.032 SR TEEMT
3.11 0.1
4. 4 2.2
0.67 LR THEERRT
0.179 RS T
4. 5 1.79 SR T
4. 6 1.79 SERR1GAEFERS T
4. 7 0.077
6.8] 0.16
4.1 0.125 RIS T
5. 2 0.14
5. 6 0.036 RS ERE T
0.024 RS T
0.036 SR T
6. 6 0.044 SERR1GAEFERS T
6.1 0.012 R 16 ERE T
0.012 RO T
0.0049 R I0FEER T
6.12 0.69 0.331] 0.071
7.1 2
0.035| 0.079 LRI 2AEERE T
7.2 0.011 R0 EERE T
7.1 0.108 SERRIGEEERE T
7 0.018 ERRIEERT
8 2 0.036 SRR R T
0.035 LR I2EERT
0.22
8.5 26 0.02 0.044 ao034 011 ERRIAEER T




— 00¢ —

{59 o e it

FE (BN :mg/0)

RS , . e L2V L1 LA Festtnl PR  RNVZStet EA 77250 B
o my X 4, GO I T PSR il e S Vi Ve IRl Ll (St ) Lo il L ol Y %
7| 4EA : O N e e 77| ee)| (e N
65 8. 6 0.54
66 9. 3 0.53
67| 9. 7 0.039 SERCIEERR T
68| 9. 7 0.032 SERGIFEERR T
69 9. 7 0.017 SRR 24EFERE T
70 9. 7 0.053 ERRIEEERK T
711 9. 8 0.059 SERCIZEERRT
72110. 9 1.0 6.3] 0.18
73111 2 0.083 SRR T
74111 3 0.015 R4 T
75111 8 0.03 SERRIAEERE T
76|11.12 0.37 0.069 0.12
77112. 8 0.052
78(12. 8 0.011 ERRIGAEEERE T
79[11.11 0.001
80(13. 2 0.076] 0.011
81113. 2 0.25 ERRITAEERE T
82|13. 8 0.02 0.89 SERRITEEER T
83[13. 6 2.9
84[14. 6 0.06
85|14. 8 0.093 SERRITEEER T
86[15. 1 0.13
87(15. 7 2.5
88|16. 3[&FH T 0.32
89(16. 7 0.027
90(16. 2 1.16
91(17. 7 0.024
92(17.11 0.16

B EemiE GG O E 2L D,

152
143

HAHNT S C oW TCIE, BT =2 V3 A& T L= ik cdn b,
MR 44 12k 184F4 A 1 H BiPE




E[LE B PR E %
%$Wﬂ HX 4 ®OE|l EE E*Wﬁ HX 4 ®OE|l EE
A (mg/0) A TR (mg/0)
Iy s e F] )1 I |
1| 12. 7|=F88&= o EET 11 M147(E%@m) 38
2 [12. 71/l TH W7 A& 56 25| 15. 7@ F | JujET 15
312, 7| =R h 20 26| 15. 7 [{E8F T HE FET 15
4 [12. 7| E=)0ET B 73 27|15 7|EEET  m_LEPET 23
5112, 7| &= HT /N H 26 28 [15. 7/ LT =R 16
6 |12. 7H&ET FEH 24 20| 15. 7/h Ut 2k 16
7 [ 12. 7| ET HRAR 35 30| 15. 7| L=)IET  £3) 19
L ) SRR 1AM ‘FEZT’ﬁ_JA 1:EI<JII
8|12 11200 T E 13g m157(m$me) 27
9 |13. 7T|{8rTh BT 17 32(15. 7| =0T EH 12
10 13. 7| E=JIET 4% 21 33| 15. 7| =BT HiL 46
11|13, 7| E=)1ET 3k 27 34 15. 7|3 FHT 1y 13
1213, 7T[Z& 0T KRR 46 35 [ 15. 7| F=4ERT  Jb/AK 15
13| 13. 7 | mT KAl 21 36 | 15. 7B ARRT  HFjE 23
14|13, 7| &G ET it 18 37[15. TI/& AT =4 17
sl A1 AL
15[13.7 (IR 21 38(15.7 qg% i) ] 12
16| 14. 7|58 RgEsm 27 w157%@§ g)%i 26
A mm KHR T P L
17(14. 7T|EEHET H3H 20 4015.7j&.§|%gj %%ﬁ 13
N . 7 /\m ;/\
18| 14. 7{/Iv s iy 52 41115.7 jéLEﬁ%gﬂmT%%ﬁ& 15
BT N R
19| 14. 7|E A CEAN 19 Q157(E%ﬁm) 16
20| 14. 7| &[T )\ 27 43116, 7| &M B 11
21| 14. 7| =M %= 14 44117, 6|/~ L BEE 14
TETT NS B A ‘n
22114.7 géﬁifﬁéig?iTéa 36 45| 14. 7| EdTH  PEHEHF: 11|31
" n
23| 14. 7 (L EEsERT) 19 46117.6 11
18 4 1
14 17
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il JE A 5 (A7 mg/0)
T W4 | H7 |AESE | fokeRE gkl [1,1-" [v2- [1,1,1-MMZ/ee [5F57om ESHEN
it No. Jah k% |mexgy |Joozf|1,2-Y |Vyeec |2FLy |2 FLy F |3
4 12 yonz |4y (TC |(PCE)
%% (MC) |E)
FO1FEHITE] 12-1 0.041| 0.018
A | 0.018f 0.011
= 12-2 <0.002]<0.0005
i <0.002] 0.0006
EAg%e [ 19-1 0.069
[HTHN 0.071
[liRl 19-2 0.0052
0.0026
T3 34-1 0.59
<t e 50 0.45
34-2 0.0018
0.0014
34-3 <0.0005
<0.0005
34-4 0.0025
0.0029
34-5 0.0014
0.0007
4| AT | 44-1 0.073
0.082
44-2 0.005
0.015
44-3 <0.002
<0.002
KENT | 65-1 0.003
0.003
65-2 0.002
<0.002
65-3 0.003
0.003
65-4 0.010
0.005
65-5 0.017
0.007
65-6 0.019
0.011
65-7 0.017
0.012
65-8 <0.002
<0.002
TIEEHAT| 79-1 <0.00005
<0.00005
79-2 <0.00005
0.00009
79-3 <0.00005
<0.00005
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i B E A 5 (AT mg/0)
BT[No| HuXA4 | HF [FAE|AS | feakeR UG k]|1,2—7 [1,1= [ 2= |1,1,1-FM7ee [FI57aa|(~ve i |5
) No. |FEl| /o R |moxpy [popxs|1,2-v (Voo |2FLy [zF0V % |#E
4 12 VastsEd V- (TC |(PCE)
Ly (MC) [E)
| 7|65 84-1 |&fi#| 0.01
K %l 0.02
=1 84-2 |mii[ <0.01
il #% ) <0.01
8| R @ | 86-1 [AiY 0.020
PE %I 0.009
86-2 | Biry] <0.002
1 <0.002
86-3 |Aii 0.013
1 0.008
S| 9|FRIENT | 10-1 [Ai <0.002(<0.004 0.13
F #% <0.002| 0.007 0.26
il 10-2 | AiTH <0.002(<0.004 <0.0005
1 <0.002|<0.004 0.0005
LO[AKRHT | 22-1 | &g <0.002|<0.004 <0.002| 0.0048
1 <0.002(<0.004 <0.002| 0.0037
22-2 |#iH <0.002(<0.004 0.002| 0.0033
1 <0.002|<0.004 <0.002| 0.0028
L1|YEIART - | 80-1 |AfiH <0.002
P A HT % 1 <0.002
80-2 | Biry] <0.002
1 0.002
80-3 |iiH 0.012
%3 0.012
804 | Biry] 0.0024
1 0.0013
12|/MRHT - | 81-1 | AT <0.002
TEFEHT - #% <0.002
KAihT | 81-2 |y <0.002
%1 <0.002
81-3 | <0.002
1 <0.002
13| FEETRET | 88-1 |Af 021
1 <0.002
88-2 | Biry] <0.002
1 <0.002
i 145 38-1 | <0.002]<0.004 0.0042
R 3 <0.002]<0.004 0.046
il 38-2 | wirtl <0.002|<0.004 0.011
1 <0.002|<0.004 0.0073
15| mET | 26-1 | ATy <0.002{<0.004 0.016
g %3 <0.002|<0.004 0.0081
il 26-2 |@iH <0.002|<0.004 <0.0005
1 <0.002(<0.004 <0.0005
16[MEEFHT | 66-1 |AiT 20
#%H 1.5
66-2 | Bir] 0.018
#%H 0.015
66-3 |Ai 0.015
%3 0.012
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i B E A 5 (AT mg/0)
BT[No| HuXA4 | HF [FAE|A | feakeR UG k]l,2—7 [1,1=" [ 2= |1,1,1-FM7ae [FI57aa~ v i | 5o
) No. |FEl| /o R |moxpy [popxs|1,2-v (Voo |2FLy [zF0V % |#E
4 12 VastsEd V- (TC |(PCE)
Ly (MC) [E)
Bl17|Aazm | 27-1 |#i <0.002| 0.085 0.13| 0.28
H %3 <0.002| 0.011 0.017| 0.035
il 27-2 |#iH <0.002{<0.004 <0.002| 0.0012
1 <0.002{<0.004 <0.002| 0.0005
18|FA _-EFET | 28-1 | Al <0.002| 0.006 0.011
1 <0.002{<0.004 0.0043
28-2 | <0.002{<0.004 0.013
1 <0.002(<0.004 0.0075
28-3 | <0.002{<0.004 0.0010
1 <0.002|<0.004 0.0006
H|19/3kJ1 | 87-1 [ 22
ot 3 97
A 20(AF0H B | 47-1 |airy 0.0087
i % 1 0.0024
il 47-2 | B 0.0012
1 <0.0005
21| %8B0 | 55-1 [AiH 0.0047| 0.009| 0.026
1 0.0043| 0.006| 0.012
55-2 | it 0.0015| 0.004| 0.0044
1 0.0016| 0.004| 0.0025
/N[22 £ | 721 [Ai <0.004 <0.002| 0.034
] [#5-BREE %3 <0.004 <0.002| 0.016
| |- R&E 72-2 | R 0.011 0.010/<0.0005
1 <0.004 0.004/<0.0005
72-3 |AiH 0.14 0.61] 0.0013
1 0.15 0.59] 0.0010
72-4 |FiH <0.004 <0.002(<0.0005
1 <0.004 <0.002(<0.0005
72-5 |FiH 0.069 0.003]<0.0005
%1 0.043 0.003]<0.0005
72-6 |AiH <0.004 <0.002(<0.0005
1 <0.004 <0.002(<0.0005
72-7 A 0.19 1.0 0.0009
1 017 0.73] 0.0007
72-8 |FiH <0.004 <0.002| 0.0011
1 <0.004 <0.002| 0.0005
72-9 |FiH <0.004 <0.002(<0.0005
1 <0.004 <0.002(<0.0005
72-10| By <0.001 <0.001{ <0.001
1 <0.001 <0.001{ <0.001
72-11| AT H <0.001 <0.001| 0.004
1 <0.001 <0.001| 0.003
72-12] AT i <0.001 <0.001{ <0.001
1 <0.001 <0.001{ <0.001
23|#ARHT | 82-1 |AiH <0.0004 <0.001
1 <0.0004 <0.001
82-2 | <0.0004 <0.001
%1 <0.0004 <0.001
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i B E A 5 (AT mg/0)
BT[No| HuXA4 | HF [FAE|AS | feakeR UG k]|1,2—7 [1,1= [ 2= |1,1,1-FM7ee [FI57aa|(~ve i |5
) No. |FEl| /o R |moxpy [popxs|1,2-v (Voo |2FLy [zF0V % |#E
4 12 VastsEd V- (TC |(PCE)
Ly (MC) [E)
B |24k L ET 1-1 |Afi <0.002{<0.004 0.018| 0.042
fiF] %1 <0.002(<0.004 0.010[ 0.035
il 1-2 | i <0.002{<0.004 0.004| 0.0015
1 <0.002{<0.004 0.002| 0.0005
1-3 | Ay 0.003]<0.004 <0.002(<0.0005
1 <0.002{<0.004 <0.002(<0.0005
1-11 | AfTH 0.0034
1 0.0025
1-12 | AiTH 0.0006
1 0.0004
25| Hif | 16-1 [Ai <0.002<0.004 <0.002(<0.0005
1 <0.002{<0.004 <0.002(<0.0005
16-4 | AiTH <0.002{<0.004 <0.002(<0.0005
1 <0.002{<0.004 <0.002(<0.0005
16-5 | ATy <0.002{<0.004 <0.002| 0.0017
1 <0.002| 0.013 0.006] 0.29
16-6 | ATyl <0.002| 0.005 0.003| 0.0080
1 <0.002{<0.004 <0.002| 0.0053
16-7 | AT <0.002| 0.042 <0.002| 0.025
1 <0.002| 0.028 <0.002| 0.012
16-8 | #ifiy] <0.002{<0.004 <0.002(<0.0005
1 <0.002{<0.004 <0.002(<0.0005
16-9 | #ify <0.002{<0.004 <0.002(<0.0005
1 <0.002{<0.004 <0.002(<0.0005
16-10| Aii <0.002| 0.007 0.14]<0.0005
1 <0.002|<0.004 0.070/<0.0005
16-11| & <0.002{<0.004 <0.002(<0.0005
1 <0.002{<0.004 <0.002(<0.0005
26|88 | 89-1 |AiH 0.072
%3 0.022
89-2 | Bir] 0.0064
1 0.0029
N PAAEEY 63-1 |afr 0.10
H % 0.089
B 63-2 | B 0.002
il % 1 0.002
28| A | 18-1 [Ai <0.002<0.004 0.025
= 1 <0.002|<0.004 0.0054
I 18-2 | AT <0.002{<0.004 0.0022
my %3 <0.002|<0.004 0.0012
7129 A< 11-1 |#i <0.002{<0.004 0.015
N 3 <0.002]<0.004 0.049
WT 11-2 |#i 0.003]<0.004 0.0008
1 <0.002(<0.004 <0.0005
11-3 | A <0.002|<0.004 0.0092
1 <0.002{<0.004 0.0046
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i B E A 5 (AT mg/0)
BT[No| HuXA4 | HF [FAE|AS | feakeR UG k]|1,2—7 [1,1= [ 2= |1,1,1-FM7ee [FI57aa|(~ve i |5
) No. |FEl| /o R |moxpy [popxs|1,2-v (Voo |2FLy [zF0V % |#E
4 12 VastsEd V- (TC |(PCE)
Ly (MC) [E)
—[301HE 13-1 | AfTH 0.002{<0.004 0.081]<0.0005
=1 %3 <0.002(<0.004 0.058/<0.0005
WT 13-2 | AiTH <0.002{<0.004 <0.002| 0.0098
1 <0.002{<0.004 <0.002| 0.0036
13-4 | #iTH <0.002{<0.004 <0.002| 0.0023
1 <0.002{<0.004 <0.002| 0.0018
3I/ATHE | 25-1 [#iH <0.002{<0.004 012
1 <0.002{<0.004 0.029
25-2 | @i <0.002{<0.004 0.010
1 <0.002{<0.004 0.008
F (32 FE ARk | 33-1 |airy <0.002| 0.023 0.14
(= 1 <0.002| 0.026 0.18
WT 33-2 | AT <0.002{<0.004 0.0069
1 <0.002{<0.004 0.0058
33|%e 5-1 | <0.002{<0.004 0.0090
a % <0.002(<0.004 0.0058
¥ 5-2 | & <0.002{<0.004 <0.0005
my %I <0.002|<0.004 <0.0005
5-3 |Afi <0.002{<0.004 0.0060
1 <0.002<0.004 0.0059
57| 34| FUAK 56-1 | wir iz
AR 3] 15
WT 56-2 | T 0.0032
1 0.0050
56-3 |AiiH 0.0051
1 0.0026
35[H 76-1 |wir <0.004 <0.002| 0.030
1 <0.004 <0.002| 0.014
76-2 | AT <0.004 <0.002| 0.0020
%1 <0.004 <0.002| 0.0019
76-3 |AiH <0.004 <0.002| 0.0026
1 <0.004 <0.002| 0.0015
K|36[{afh it | 4-1 [Fi <0.002| 0.025 0.22
¥ %1 <0.002| 0.016 0.16
WT 4-2 | B <0.002| 0.029 0.038
1 <0.002| 0.017 0.040
37| PaEFH 45-1 | A7 0.65] 0.020
%3 0.48{ 0.020
45-2 | @i 0.002(<0.0005
1 0.002(<0.0005
38| FEE | 85-1 |AiH 0.012
1 <0.002
85-2 | Bir] <0.002
1 0.002
(39| 77-1 |wir 0.097(<0.0005
[if] %1 0.10]<0.0005
WT 77-2 | i <0.002(<0.0005
%1 0.037[<0.0005

— 306




i B E A 5 (AT mg/0)
BT[No| HuXA4 | HF [FAE|AS | feakeR UG k]|1,2—7 [1,1= [ 2= |1,1,1-FM7ee [FI57aa|(~ve i |5
#F No. |Fetirma ®FE  |moxpy [pooxs|1,2-v [Vreex |2FLy [zF0y # |#
4 12 VastsEd V- (TC |(PCE)
Ly (MC) [E)

JB& [40|FR IR 90-1 |Afrn 0.81
fif] 3 0.54
WT 90-2 | Biry] <0.002

1 <0.002
e ENIEN 39-1 | AT 0.085
(= 1 0.050
WT 39-2 | AT 0.002

1 <0.002
MR|42|3 72 | 83-1 | iyl S5
ZH #%H 1.4
WT 83-2 | Biry] 0.02

1 0.04

FE1 MEENT CRRRAD) IRBRE LML BB L 7=b D THD,

2 AR OFTHIIHIT.6~7H . % HIZHI8.1~2H Th 5,

13 FHFNo.O-11%, JFHIE L TE Y RRFICRBIT DI KT I B W COY W E N i m B 2 R U= /S T D,

4 FHFNo. O-2LIRIE, JRAIEL THESO M (HFNo.O-1) O FiitlE L THE 2 b, BrEEAEYEL B X 7=
WSS 2R LYELL F O THD,

S TRTATA X A T4 H 1 H BITE
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. B “|:—L’;"j: . - C/I:—‘—»;’\
E N | Huxs | P |RE (;{égﬁi) E No| ks | PR (Qg :Eg%@)

T L{BErEET | NI-1 | A 1.7 B 13| F&ER  |N19-1| A 13

#B 1% 8.1 fi] % 18

=} N1-2 | Bt 1.1 i N19-2| A 1.6

il 3 1.6 % 3.2

N1-3 | B 4.7 14JUKR] [N20-1] Aifyl 9.4

% 4 2.8 % 11

2| EEEAHT IN16-1]| Ay 16 N20-2| A 12

% 16 3 12

N16-2| Hfi 3.7 7| 15% N21-1| i 0.99

% 3 3.1 R 3 1.1

| 3[PPAET  [N25-1| A 6.0 il N21-2| & 3.1

all 3 4.1 % 2.8

il N25-2| At 12 16|44 N43-1]| A 13

% 4 18 % 11

| a4 WT | N9-1 | R 5.9 N43-2| A 0.94

e % 5.9 % 0.78

i N9-2 | #ii 8.9 B 17 B3 | N4-1 | B 43

% 3 18 = % 43

S5IFETHET  |N26-1| A 7.1 ) N4-2 | B 2.3

% 8.6 my % 2.3

N26-2| At 6.3 18| 4% N10-1| B 9.0

% 4 6.8 % 7.8

Bl 6|AZFM  [N17-1] A 11 N10-2| & 8.2

W 3 10 % 9.1

il N17-2| A 8.0 19|13 E N11-1| B 1

% 3 8.4 % 10

7|rE _EEPRT IN27-1| i 12 N11-2| & i

3 il 3 12

N27-2| A 10 20|21 N30-1]| A 9.2

% 4 8.8 % 6.9

N ] e N2-1 | & ol N30-2| & 3.8

I 3 23 3 3.9

i N2-2 | Bt 14 Bl 21 B IN31-1] #ir 8.2

% 3 13 1] % 0.10

9| & N18-1| mi#A 15 W N31-2| & 23

3 2. my % 0.40

N18-2| A 18 Z| 22/AFH | N5—1 | AT 13

% 4 19 =} % 13

10| =R N28-1| B 7.0 iy N5-2 | B 7.9

% 8.1 % 9.0

N28-2| Hii 5.5 23| H N32-1| i 6.0

% 3 6.1 3 5.5

11|z % N29-1| il 10 N32-2| A 3.7

% 8.1 % 3.7

N29-2| A 7.8 24| 1 N33-1| B 19

% 3 5.8 3 21

= 12| N3-1 | &t 8.1 N33-2| A 9.3

[if] % 7.1 % 13
(il N3-2 | #fit 10
% 3 11
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. B \‘|:—L’;"j: . - C/I:—‘—»;’\
E No. | HiX4, | (ééj{gjgg%ﬂ) E No. [ Hu[X4 | R (Qg :Eg%@)
& 25|k N12-1| Aif] 12 51 37|% k- N39-1| wifl 8.3
+ % 4 6.8 H % 8.7
T N12-2| i 10 g N39-2| A 5.1
(3 7.3 % 4.4
26|15 N34-1| At 9.1 F5| 38|Fn A N23-1| wifgl 1
% 4 12 5H % 6.0
N34-2| i — iy N23-2| wir 7.4
(3 6.3 %4 7.5
F| 27|fBEm | N6-1 | At 10 39|AHRHE  |N24-1| AT 18
= % 3 9.2 3 18
T N6-2 | At 6.8 N24-2| wir 10
#% 1] 5.5 % 10
| 28|db/vR [N35-1| AT 6.8 Bl 40|4E8 = |N40-1| B 7.1
st % 4 5.6 D % 1.2
T N35-2| it 5.4 iy N40-2| #ir 1.9
(3 5.1 % 1.6
29[/t IN22-1| i 13 AL|ZEEEAR  |N4L-1| AT 7.4
57 % 3 14 % 3.9
¥ N22-2| il 0.99 N41-2| & 1.9
T % 1.7 % 2.2
B 30|BFE N36-1| i 12 42|/ N42-1| A 4.7
R % 4 12 % 7.4
T N36-2| i 8.8 N42-2| #ir 2.0
(3 7.8 % 2.6
Rl 31|TPAR N7-1 | i 11
[if] % 3 13
HT N7-2 | A i1
(3 14 L ST CRARAD) 1 ZBR BT AL e A HE L7
32| KR N13-1| Aif] 9.9 HLOTHA,
1 1 10 2 FHERFEAOFTEIIZHIT.6~7H | %#IX
N13-2| i 12 H18.1~2 A Th 2,
(3 20 3 N0 O- 1, FHIEL TG Y RRE
33| L N14-1| A 12 S SIS RV RUE: S S E N S A =571 7
% 3 13 ENEREEEZRUT- /S THD,
N14-2| #frl 4.7 E4 HFNo.O-2LL T, JRATEL THE3DH
(3 4.9 ROGFFNo.O-1) O T itflEL TH 2 DA,
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